



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right) - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right) + \frac{2}{5} =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{3}{5}\right) =$$



namn: \_\_\_\_\_

Datum: \_\_\_\_\_ Poäng: \_\_\_\_\_

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(-\frac{2}{5}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{5} = \left(-\frac{2}{125}\right)$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{5}\right) = \frac{4}{15}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{107}{216}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} = \left(-\frac{11}{40}\right)$$

$$\left(\frac{3}{5}\right) - \frac{3}{4} = \left(-\frac{3}{20}\right)$$

$$\left(\frac{3}{5}\right) + \frac{2}{5} = 1$$

$$\left(-\frac{1}{5}\right) + \frac{1}{5} = 0$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} = \left(-\frac{7}{50}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{4} = \frac{17}{500}$$

$$\left(\frac{3}{5}\right)^0 + \frac{1}{5} = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{5}\right) = \frac{71}{320}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{2}\right) = 0$$

$$\left(-\frac{3}{4}\right)^3 - \frac{1}{6} = \left(-\frac{113}{192}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{5} = \frac{1}{20}$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{4} = \frac{31}{108}$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{3}{5}\right) = \left(-\frac{3}{20}\right)$$